O IRR S GMER

S[HREMEEOFHR(GEH

20154 EFE 2315 (20154078 ~ 201546098 )

£ —EBIR TR BT - L EEGM
FEIREEMN BAHR - LR EEGM

: M=
(Bg *MeV/s) (Ba/s) ‘ (Bq)
1, 2 EHEAERE
3, A SHARBRE
5, 6 S BERE 0.0E+00 0.0E+00 0.0E+00
2B —EUERESARERE
3B —EURBREARBSH
4BHE—E URBRARKEE
BENETLNEEERSRERE
FERFRHAET— LSO
' & & ' 0.0E+00 0.0E+00 | 0.0E+00
GE)BEZERTEHOMHEZ S,
BRR T EER
’_ mm%(;i) T Z‘ijﬁﬁﬁﬁé Eﬁ’;fﬁ ff;,,;; RE| # & % &
#5684 Ba/s Ba/s -] T —
1 28 A 5 6x10° L
| BABEAREE 9.6x10° 27,113 H.z?.//,-;o J Hevie017 BT
5,65 X AR A —_ 9.6%x10% :
é g-f- Aot e fh e S R s IR
- #&%mm—ﬁﬂi 4:; ?%n:ggfﬂ?aﬁé C,

B 120 e o A S hox 0 BB 7 43,




20154EEEE 2 M HA (20154607 H ~ 20154098 )

5 , 6 B # #
A MR

' (Bq *MeV/s)  (Ba/s)

7 , 0.0E+00 0.0E+00 °
8 0.0E+00 0.0E+00
g 0.0E+00 0.0E+00
& FHBq -MeV) 0.0E+00
(Ba) 0.0E+00
T #5(Bq *MeV/s) 0.0E+00
(Ba/s) 0.0E+00
| (Ba/cm”) 0.0E+00
= A(Bq *MeV/s)(1H) 0.0E+00
~ (Ba/s) (18) 0.0E+00
(Bg/em®  (18) 0.0E+00

[ REDEENF AR

B = &
BE
(Bg/cm”)

0.0E+00
0.0E+00
0.0E+00

9.30

9.30
9.30






